
        Math 3.    Homework 17 
  

Calculate using the most convenient way. Rewrite the expression or place the 

parentheses, if necessary: 

a) 276 + 49 + 124 =  

b) 325 + 512 + 75 = 

c) 612 – 270 – 313 = 

d) 20 × 7 × 5 = 

 Find a number in the table which can be divided by 8 with a remainder 1? 

67 72 51 

42 73 64 

60 20 69 

  

 

Consider sets M and K. By using { }, define the elements of the set M∩K. Mark 

the elements of the sets M and K on the Venn diagram and trace with a colored 

pencil the set M∩K. 

_______________________ 

 

 

 

 

 

1. 

2. 

3.

  



Homework 17    

 

2 

 

________________________________ 

 

 

 

 

 

Place 4 elements {x, y, z, q } on the diagrams of the sets A and B so that there 

would be: 

a) 3 elements in each set; 

 

 

 

b) 2 elements in one set and 4 elements in the other; 

 

 

c) 4 elements in one set and 3 elements in the other; 

 

 

 

d) 0 elements in one set and 4 elements in the other; 

 

 

 

4.
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e) 4 elements in each set; 

 

 

 

f) 2 elements in each set. 

 

 

 

 

Consider 3 following sets: M = {a, □}, K = {m, 4}, D = {a, m, □, ★}  

a) Is the set M or set K a subset of the set D? Give the answer using the symbols 

⊂   𝑜𝑟 ⊄: ________________________ 

b) Draw a Venn diagram for the sets M, K and D. 

 

 

 

 

 

 

 

A is a set of people who can swim; B is a set of people who can play the violin. 

What do these sets represent?  

                        A∩B   __________________________________ 

         A∪B  __________________________________ 

 

5. 

6. 
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Continue the patterns using a compass.    
7. 
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 Imagine that that Tiny Bug sits on the shape’s face that is not visible. Color 

that face in yellow color. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

Calculate:  

28 ÷ 3 =     28 ÷ 4 =               28 ÷ 5 =       28 ÷ 6 = 

 

 

8. 

9. 
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On each picture, color the set A∩B: 

 

 Calculate using the optimal way: 

a) 296 + 587 – (600 - 445) + (800 – 592) = _____________________________ 

______________________________________ 

______________________________________ 

______________________________________ 

 

b) (319 + 319 + 219) – (245 + 245 + 245) = ____________________________ 

_____________________________________ 

_____________________________________ 

_____________________________________ 

   

   Long multiplication (make columns): 

a)  82 × 67 =   b) 46 × 24 =    c) 123 × 32 =  

10. 

11. 

12. 


